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Name: _____________________________  Date: _____________________ 

 
 

Part A 
 

A dog has 4 legs. 

How many legs do 2 dogs have in all?  

Draw a picture and enter your answer in the space provided.   

        
     

 

 

 

 

 

 

 

 

 

 

 

 

 

Part B 

 

A cat has 4 legs. A bird has 2 legs.   

How many legs do a cat and a bird have in all? 
Draw a picture and enter your answer in the space provided      
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ANSWER KEY 
 

Rubric Part A 
Score Description 

2 Student response includes the following components: 

 

 Computation component = 1 point 

            Correct answer, 8 legs. 

 Modeling component= 1 point  

Some examples can be a number bond or drawing with counters. 

1 Student response has 1 correct component. 

0 Student response has no correct component. 

Rubric Part B 

Score Description 

2 Student response includes the following components: 

 

 Computation component = 1 point 

Correct answer, 6 legs. 

 Modeling component= 1 point  

Some examples can be a number bond or drawing with counters. 

1 Student response has 1 correct component 

0 Student response is incorrect or irrelevant. 
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